Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

				Rate (Ceiling Comp	onent Charge	s Calculation	(51.915(b)(1))												RESIDENCE / NE	P / BRI (excluding	SL	D	MULTI-LINE	DUCINECC
Study Area	EXCHANGES	Des / ND / DDI	CLD	RESID	DENCE / NP /	BRI / SLB (exc	luding Lifelin	e)				Total Crnt Yr		Maximum	D = = /NID /DDI	CLD	MULTI-LINE B	JSINESS				eline)		Б		BUSINESS
		Res / NP / BRI Tariff Period	SLB Tariff Period	Stand-alone	Mandatory	Mandatory Zone	State			State	Federal	Comp. Chgs	Rate Ceiling Comp. Chgs	Comp. Chgs	Prv Yrs	SLB Prv Yrs	Tariff Period	Federal	Prv Yrs		MAX Curr Yr Res/NP/BRI	MAX Curr Yr	MAX Curr Yr SLB	MAX Curr Yr	MAX Curr Yr MLB	MAX Curr Yr
		Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	Charges	SLC	<u>E911</u>	TRS	<u>USF</u>	<u>SLC</u>	w/o ARC	<u>Since 2012</u>	to date	Max Rate	Max Rate	Projected Lines	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
ALStudyArea	Alabama Fort Deposit			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	_	\$0.00	\$2.00	٠			ć1 F0		¢3.00	
ALStudyArea	Lafayette			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	· -		\$1.50 \$1.50		\$3.00 \$3.00	
ALStudyArea	Marion			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	٥	· -		\$1.50		\$3.00	
ALStudyArea	McIntosh			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	Ś	- -		\$1.50		\$3.00	
ALStudyArea	Uniontown			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	Ś	_		\$1.50		\$3.00	
ALStudyArea	Brideport			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	Ś	-		\$1.50		\$3.00	
ALStudyArea	Centreville			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
, ALStudyArea	Eutaw			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Evergreen			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Greensboro			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Jackson			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Livingston			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Stevenson			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Thomasville			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	York			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Bay Minette			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Brewton			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Childersburg			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Clanton			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Clayton			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Demopolis			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Eufaula			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Fort Payne			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Linden			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Munford			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea				\$23.00		\$0.00	\$0.00		\$0.15			_	\$32.67		\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Sylacauga			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Talladega 			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Troy			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Tuskegee			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Albertville			\$23.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$1.60 \$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00 \$0.00	\$1.00 \$1.00		\$0.00	\$2.00 \$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Alexdr.City Athens			\$23.00 \$23.00	\$0.00	\$0.00	\$0.00 \$0.00	\$1.60	\$0.15 \$0.15	\$0.00 \$0.00	\$6.45 \$6.45	\$31.20 \$31.20	\$32.67 \$32.67	\$32.67 \$32.67	\$0.00	\$1.00		\$0.00 \$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea ALStudyArea	Boaz			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50 \$1.50		\$3.00	
ALStudyArea	Carbon Hill			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00 \$3.00	
ALStudyArea	Cordova			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	۶			\$1.50			
ALStudyArea	Cullman			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	÷	· -		\$1.50		\$3.00 \$3.00	
ALStudyArea	Goodwater			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	5	· -		\$1.50		\$3.00	
ALStudyArea	Guntersville			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	¢	- -		\$1.50		\$3.00	
ALStudyArea	Hanceville			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	Ś	-		\$1.50		\$3.00	
ALStudyArea	Hurtsboro			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	Ś	-		\$1.50		\$3.00	
ALStudyArea	Jasper			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	Ś	-		\$1.50		\$3.00	
ALStudyArea	Maplesville			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
, ALStudyArea	Parrish			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Selma			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Attalla			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Auburn			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Columbiana			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Courtland			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
ALStudyArea	Dadeville			\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 1 of 25

	-	ı .															_				
ALStudyArea	Gadsden	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Hartselle	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Moulton	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Ohatchee	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Opelika	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Phenix City	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Piedmont	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Town Creek	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Alabaster	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Anniston	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Belle Fontaine	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Bessemer	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Birmingham	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Calera	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Chelsea	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Citronelle	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Dora	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Fairhope	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.0	00
ALStudyArea	Florence	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.0	00
ALStudyArea	Gardendale	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Graysville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Gurley	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Hazel Green	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Holtville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.0	00
ALStudyArea	Huntsville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Jacksonville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Killen	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Leighton	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.0	00
ALStudyArea	Lexington	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Madison	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Mobile	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.0	00
ALStudyArea	Montevallo	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.0	00
ALStudyArea	Montgomery	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Mt. Vernon	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Pinson	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Prattville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Rogersville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Russellville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Sheffield	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Tuscaloosa	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Vincent	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	00
ALStudyArea	Warrior	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	
ALStudyArea	West Blocton	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	
ALStudyArea	Wetumpka	\$23.00	\$0.00	\$0.00	\$0.00	\$1.60	\$0.15	\$0.00	\$6.45	\$31.20	\$32.67	\$32.67	\$0.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.0	
ALStudyArea	StateTotal	\$ -	\$ - !	5 - :	\$ -	\$ - !	\$ -	\$ -	\$ 6.45	\$ 6.45	\$ - !	\$ 6.45 \$	\$ - \$	5 1.00	\$ 6.45	\$ 2.00	\$	0.50	\$ 1.50	3.0	
-	•	•																	 		

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

				Rate C	Ceiling Compo	onent Charge	s Calculation	(51.915(b)(1	1))										- 1		RESIDENCE / NP	/ BRI (excluding	CLI		NALILET LINE	DITCINIECC
Study Area	EXCHANGES	Dos / ND / DDI	CLD	RESIDE			luding Lifelin	e)				Total Crnt Yr		Maximum	Doc/ND/DDI	CLD	MULTI-LINE B	USINESS				line)	SLE	3	MULTI-LINE	RO2INE22
		Res / NP / BRI Tariff Period	SLB Tariff Period	Stand-alone I		Mandatory Zone	State			State	Federal	Comp. Chgs	Rate Ceiling Comp. Chgs	Comp. Chgs	Prv Yrs	SLB Prv Yrs	Tariff Period	Federal	Prv Yrs		MAX Curr Yr Res/NP/BRI	MAX Curr Yr	MAX Curr Yr SLB	MAX Curr Yr	MAX Curr Yr MLB	MAX Curr Yr
	-1	Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	<u>Charges</u>	SLC	<u>E911</u>	TRS	<u>USF</u>	SLC	w/o ARC	<u>Since 2012</u>	to date	Max Rate	Max Rate	Projected Lines	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
FLStudyArea	^{Florida} Belle Glade			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00	_	\$0.00	\$2.00	ė	1.50		\$1.50		\$3.00	
FLStudyArea	Cedar Key			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	ç	1.50		\$1.50		\$3.00	
FLStudyArea	Chiefland			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
FLStudyArea	Chipley			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Cross City			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	, \$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
, FLStudyArea	, Old Town			\$20.21	\$0.00	\$0.00	\$0.00	, \$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Pahokee			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Vernon			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Bunnell			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Fernandina Bch.			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Flagler Beach			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Graceville			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Lake City			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	New Symrna			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Oak Hill			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Palatka			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Palm Coast			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Pierson			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Pomona Park			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Welaka			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Yankeetown			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Big Pine Key			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Brooksville			\$20.21 \$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11 \$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27 \$27.27	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00	\$2.00 \$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea FLStudyArea	DeLand DeLeon Springs			\$20.21	\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.50 \$0.50	\$0.11 \$0.11	\$0.00 \$0.00	\$6.45 \$6.45	· ·	\$24.26 \$24.26	\$27.27	\$1.00	\$1.00		\$0.00 \$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	• •			\$20.21	\$0.00	\$0.00	\$0.00	-	\$0.11		•	\$27.27	•			\$1.00		\$0.00	\$2.00	, ć	1.50 1.50		\$1.50 \$1.50		\$3.00 \$3.00	
FLStudyArea	Islamorada			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	_	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	ç	1.50		\$1.50		\$3.00	
FLStudyArea	Key Largo			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
FLStudyArea	Key West			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
, FLStudyArea	, Lynn Haven			\$20.21	\$0.00	\$0.00	\$0.00	, \$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
, FLStudyArea	, Marathon			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Micanopy			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	N. Key Largo			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Panama City			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Panama City Bch.			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Sugarloaf Key			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Sunny Hills			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	·	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Trenton			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$27.27	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Vero Beach			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Weekiwachee			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	-	\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Youngstown			\$20.21	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$24.26	\$27.27	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Archer			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$28.06	\$25.05	\$28.06	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Bronson			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11 \$0.11	\$0.00	\$6.45	·	\$25.05	\$28.06	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea FLStudyArea	Cantonment Daytona Reach			\$21.00 \$21.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.50 \$0.50	\$0.11 \$0.11	\$0.00 \$0.00	\$6.45 \$6.45		\$25.05 \$25.05	\$28.06 \$28.06	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$	1.50		\$1.50		\$3.00	
FLStudyArea	Daytona Beach DeBary			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$25.05	\$28.06	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50 \$1.50		\$3.00 \$3.00	
FLStudyArea	Dunnellon			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$25.05	\$28.06	\$1.00	\$1.00		\$0.00	\$2.00	\$ ¢	1.50 1.50		\$1.50		\$3.00	
FLStudyArea	Ft. Pierce			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$25.05	\$28.06	\$1.00	\$1.00		\$0.00	\$2.00	¢	1.50		\$1.50		\$3.00	
FLStudyArea	Gainesville			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45		\$25.05	\$28.06	\$1.00	\$1.00		\$0.00	\$2.00	¢	1.50		\$1.50		\$3.00	
FLStudyArea	Jensen Beach			\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	-	\$25.05	\$28.06	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
•				•											•			ı					•		•	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 3 of 25

Filtrage 19	El Ctudy Aron	Kovetono lite	C21.00	¢0.00	¢0.00	¢0.00	¢0.F0	ć0 11	¢0.00	¢6.45	¢ae oc	Ć2F OF	¢20.06	¢1.00	¢1.00	¢0.00	¢2.00	4.50		40.00	
Classing Classing Class	FLStudyArea	Keystone Hts.	\$21.00	\$0.00	\$0.00	\$0.00	\$0.50	\$0.11	\$0.00	\$6.45	\$28.06	\$25.05	\$28.06	\$1.00	\$1.00	\$0.00	\$2.00	\$		\$3.00	
March Marc	•	•		•	•	· .					•			-				\$			
Habsher Mannel Service (1988) (1988) (1988) (1988) (1988) (1988) (1989)	•		_							· ·				-				\$			
Patter of the Series Serie	•									· ·	•			•				\$			
Habshaffeed Research S.11.0 Stu0 Stu0 Stu0 Stu0 Stu0 Stu0 Stu0 Stu	•			\$0.00			· ·	· ·						-				\$			
Manager Mana	•			\$0.00			· ·	· ·			•			-				\$			
Pattol-plane Patt	•									4			:					\$			
Patter P	•				· ·									•			•	\$			
P. Michaele My	•		· ·	•	•		•			· ·				-				\$			
Relianding Relianding Relianding Substanting Sub	•	*	_											-				\$			
Million 12.10 10.00 10		•	_					•		· ·	•			-			_	\$			
Marsen S2100 S000	•											·		•				\$		\$3.00	
Filter Pare Pare S21.00 S00.0 S00.	•				· ·					· ·				•				\$			
Profice Profice Profit	•									· ·		-		-			_	\$			
FSU-slay-lawer FSU-slay-lawer SU-slay	•						•	· ·		· ·				•				\$		•	
P.Stiudywkee Coca Coca State	•		· ·	•			•	· ·						-				\$			
FSU-stylewer FSU-	•							· ·		4		·		-				\$		\$3.00	
Fishing-lane Sale	•				•			•		· ·				-				\$		\$3.00	
Fished-where Syllo Sollo	•		_											-				\$		\$3.00	
FISUIDANCE Vulce S21.00 S0.00	•						· ·	· ·		4		•		•				\$	\$1.5	\$3.00	
Fishusy-wear Fish	•	•			· ·			· ·		\$6.45			\$28.06	-				\$ 1.50	\$1.5	\$3.00	
Fishidy-wear Fish	•							· ·		4		•		•				\$ 1.50	\$1.5	\$3.00	
FISTURY Area Justice S21.00 S0.00	•							•				-		•				\$ 1.50	\$1.5	\$3.00	
F.Studykrea Marolle	•	, •				· .			· .					-			_	\$	\$1.5	\$3.00	
FishudyArea Maddleburg S21.00 S0.00	•							•		· ·				•				\$	\$1.5	\$3.00	
FistudyArea Mideleburg S21.00 S0.00	•	·								\$6.45			\$28.06	-				\$ 1.50	\$1.5	\$3.00	
FLStudyArea Ornage Park \$21.00 \$0.00 \$	•				· ·		· ·			4				•				\$	\$1.5	\$3.00	
FLStudyArea Ponte Vedra S2100 S0.00 S0	•	<u> </u>					· ·	· ·		4								\$ 1.50	\$1.5	\$3.00	
FLStudyArea Boynton Beach	•		· ·	•	•	•	•	•	•		•	•	•	-			_	\$	\$1.5	\$3.00	
FLStudyArea Boynton Beach S21.00 S0.00	•											-		-				\$ 1.50	•	\$3.00	
FLStudyArea Jacksonville S21.00 S0.00	•			-		•			-		-			-				\$			
FLStudyArea St. Johns St.	•	•		-	•	•		-	-				-				_	\$	\$1.5	\$3.00	
FLStudyArea Deerfield Beach	•		_								_						_	\$		\$3.00	
FLStudyArea Deerfield Beach \$21.00 \$0.00	•			-	-	•												\$		\$3.00	
FLStudyArea East Orange \$21.00 \$0.00 \$	•	, -	_	•									_				_	\$		\$3.00	
FLStudyArea Geneva	•		_	-					-	-							_	\$			
FLStudyArea Geneva \$21.00 \$0.0	•	_		-	-	•			-								_	\$	\$1.50	\$3.00	
FLStudyArea Hollywood \$21.00 \$0.00 \$	•		_															\$			
FLStudyArea Homestead \$21.00 \$0.00 \$	•			-	-	•											_	\$			
FLStudyArea Miami \$21.00 \$0.00	•	·	_														_	\$		\$3.00	
FLStudyArea North Dade \$21.00 \$0.00	•			-		•		-	•	-								\$			
FLStudyArea Orlando \$21.00 \$0.00 \$0.00 \$0.50 \$0.11 \$0.00 \$6.45 \$28.06 \$25.05 \$28.06 \$1.50 \$0.00 \$2.00 \$3.00 FLStudyArea Oviedo \$21.00 \$0.00 \$0.00 \$0.01 \$0.00 \$25.05 \$28.06 \$1.00 \$1.00 \$0.00 \$1.50 \$3.00 FLStudyArea Perrine \$21.00 \$0.00 \$0.00 \$0.50 \$0.11 \$0.00 \$6.45 \$28.06 \$1.00 \$1.00 \$0.00 \$2.00 \$1.50 \$1.50 \$3.00 FLStudyArea Perrine \$21.00 \$0.00 \$0.00 \$0.50 \$0.11 \$0.00 \$6.45 \$28.06 \$1.00 \$1.00 \$0.00 \$1.50	•		_								_						_	\$ 1.50			
FLStudyArea Oviedo \$21.00 \$0.00 \$0.00 \$0.50 \$0.11 \$0.00 \$6.45 \$28.06 \$25.05 \$28.06 \$1.00 \$0.00 \$2.00 \$1.50 \$1.50 \$3.00 FLStudyArea Perrine \$21.00 \$0.00 \$0.00 \$0.00 \$0.01 \$0.00 \$0.01 \$0.00<	•		_	-						· ·				-				\$			
FLStudyArea Perrine \$21.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.50 \$3.00 FLStudyArea Pompano Beach \$21.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.50 \$1.50 \$3.00 FLStudyArea Sanford \$0.00	•				-					-							_	\$ 1.50	\$1.5	\$3.00	
FLStudyArea Pompano Beach \$21.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.50 \$1.50 \$1.50 \$1.50 FLStudyArea Sanford \$21.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.00 \$1.00 \$1.50 <t< td=""><td>•</td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>_</td><td>\$</td><td></td><td>\$3.00</td><td></td></t<>	•			-													_	\$		\$3.00	
FLStudyArea Sanford \$21.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.50 \$0.11 \$0.00 \$6.45 \$28.06 \$1.00 \$1.00 \$1.00 \$1.50 \$1.50	•			-					•		-			-				\$		\$3.00	
	•												_					\$		\$3.00	
FLStudyArea StateTotal \$ - \$ - \$ - \$ - \$ - \$ - \$ - \$ 6.45 \$ 6.45 \$ 1.00 \$ 1.00 \$ \$ 1.50 \$ \$ 1.50 \$ \$ 3.00	•								•	-				-				\$			
	FLStudyArea	StateTotal	\$ -	Ş -	\$ -	Ş - :	\$ - !	> -	Ş -	\$ 6.45	\$ 6.45	Ş -	\$ 6.45	5 1.00 \$	5 1.00	\$ 6.45	\$ 2.00	\$ 1.50	\$ 1.50	\$ 3.00	

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

				Rate (Ceiling Comp	onent Charge	s Calculation	(51.915(b)(1))			1								R	ESIDENCE / NI	P / BRI (excluding	CI	0	NALUTI IINE	DUCINECC
Study Area	EXCHANGES			RESID	DENCE / NP /	BRI / SLB (exc	luding Lifelin	e)				Total Crnt Yr		Maximum			MULTI-LINE B	USINESS				eline)	SL	В	MULTI-LINE	BUSINESS
		Res / NP / BRI Tariff Period	SLB Tariff Period	Stand-alone	Mandatory	Mandatory Zone	State			State	Federal	Rate Ceiling Comp. Chgs	Rate Ceiling	Rate Ceiling Comp. Chgs	Res/NP/BRI Prv Yrs	SLB Prv Yrs	Tariff Period	Federal	Prv Yrs		MAX Curr Yr Res/NP/BRI	MAX Curr Yr	MAX Curr Yr SLB	MAX Curr Yr	MAX Curr Yr MLB	MAX Curr Yr
		Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	<u>Charges</u>	SLC	<u>E911</u>	TRS	<u>USF</u>	<u>SLC</u>	w/o ARC	Since 2012	to date	Max Rate	Max Rate	Projected Lines	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
	Georgia				4	4	4	4		4	4	4	4		4	4	_		4	•			Ī		•	
GAStudyArea	·			\$21.45	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.40	\$26.32	\$29.40	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.60		\$1.50		\$3.00	
GAStudyArea				\$21.45	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.40	\$26.32	\$29.40	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.60		\$1.50		\$3.00	
GAStudyArea	_			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.72	\$31.00	\$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05 \$23.05	\$0.00	\$0.00 \$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56 \$0.56	\$1.00 \$1.00		\$0.00	\$2.00 \$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea GAStudyArea				\$23.05	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00	\$1.50 \$1.50	\$0.00 \$0.00	\$0.00 \$0.00	\$6.45 \$6.45	\$31.00 \$31.00	\$29.44 \$29.44	\$31.00 \$31.00	\$0.56 \$0.56	\$1.00		\$0.00 \$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50 \$1.50		\$3.00 \$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	, ¢	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	¢	_		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	·			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	Ś	<u>-</u>		\$1.50		\$3.00	
GAStudyArea	•			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	Ś	_		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	Ś	_		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	_		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	<u> </u>			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Barnesville			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Bogart			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Bowdon			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Buford			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Clermont			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Flowery Branch			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Jackson			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	Kingston			\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea	·			\$23.05		\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05		\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea				\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
GAStudyArea GAStudyArea				\$23.05 \$23.05	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$1.50 \$1.50	\$0.00 \$0.00	\$0.00 \$0.00	\$6.45 \$6.45	\$31.00 \$31.00	\$29.44 \$29.44	\$31.00 \$31.00	\$0.56 \$0.56	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$ ^	-		\$1.50		\$3.00	
•								-	\$0.00 \$0.00				-							\$	-		\$1.50		\$3.00	
GAStudyArea GAStudyArea				\$23.05 \$22.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$1.50 \$1.50	\$0.00 \$0.00	\$0.00 \$0.00	\$6.45 \$6.45	\$31.00 \$29.95	\$29.44 \$26.88	\$31.00 \$29.95	\$0.56 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$	0.05		\$1.50 \$1.50		\$3.00	
GAStudyArea	•			\$22.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.95	\$26.88	\$29.95	\$1.00	\$1.00		\$0.00	\$2.00	ş e					\$3.00	
GAStudyArea				\$22.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	¢	0.05 0.25		\$1.50 \$1.50		\$3.00 \$3.00	
GAStudyArea				\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	¢	0.25		\$1.50		\$3.00	
GAStudyArea				\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	
GAStudyArea				\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	Ś	0.25		\$1.50		\$3.00	
GAStudyArea				\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	
GAStudyArea				\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	
GAStudyArea	•			\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	
, GAStudyArea				\$21.80		\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	
GAStudyArea	•			\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	
GAStudyArea	Millen			\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.25		\$1.50		\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 5 of 25

0.45: 1.4	8:11	424.00	40.00	40.00	40.00	44.50	40.00	40.00	66 AF	420 75	426.67	420.75	44.00	44.00	40.0	. 42.00				-		
GAStudyArea	Richland	\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		· ·	\$ 0.2	5	\$1.5	0	\$3.00	
•	Sardis	\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00		•	\$ 0.2	5	\$1.50	0	\$3.00	
GAStudyArea	Sparta	\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ 0.2	5	\$1.5	0	\$3.00	
GAStudyArea	St. Simons Isl.	\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ 0.2	5	\$1.5	0	\$3.00	
GAStudyArea	Swainsboro	\$21.80	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.75	\$26.67	\$29.75	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ 0.2	5	\$1.5	0	\$3.00	
GAStudyArea	Arlington	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.50	0	\$3.00	
GAStudyArea	Bainbridge	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Baxley	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		-	\$ -		\$1.5		\$3.00	
GAStudyArea	Claxton	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			· \$ -		\$1.5		\$3.00	
•	Cochran	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			¢ _		\$1.5		\$3.00	
•		\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	¢		\$1.5		\$3.00	
GAStudyArea		\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	٠ .					
GAStudyArea	Dublin	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	, -		\$1.5		\$3.00	
•		-			•								-				\$ -		\$1.5		\$3.00	
GAStudyArea	Gibson	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
•	Greensboro	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	\$ -		\$1.5		\$3.00	
•		\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	\$ -		\$1.5		\$3.00	
GAStudyArea	Louisville	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			\$ -		\$1.5	0	\$3.00	
GAStudyArea	Lyons	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Madison	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			\$ -		\$1.50	0	\$3.00	
GAStudyArea	Monticello	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			\$ -		\$1.50	0	\$3.00	
GAStudyArea	Pelham	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Royston	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Rutledge	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.50	0	\$3.00	
GAStudyArea	Sandersville	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Sparks	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Thomasville	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Thomson	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Vidalia	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.50	0	\$3.00	
GAStudyArea	Wadley	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.50	0	\$3.00	
GAStudyArea	Warrenton	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Waynesboro	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			\$ -		\$1.50	0	\$3.00	
GAStudyArea	Woodbury	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			, \$ -		\$1.5		\$3.00	
GAStudyArea	Wrens	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	\$ -		\$1.5		\$3.00	
GAStudyArea	Wrightsville	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00		· ·	¢ _		\$1.5		\$3.00	
GAStudyArea	Tifton	\$22.35	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$30.30	\$27.23	\$30.30	\$1.00	\$1.00			\$ -		\$1.5			
GAStudyArea	Valdosta	\$21.75	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$29.70	\$26.62	\$29.70	\$1.00	\$1.00					\$1.5		\$3.00 \$3.00	
•		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.72	\$31.00	\$1.00	\$1.00	_		\$ 0.3					
•			\$0.00														\$ -		\$1.5		\$3.00	
GAStudyArea	•	\$23.05		\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.72	\$31.00	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
GAStudyArea	Albany	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.82	\$31.00	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
GAStudyArea	Athens	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.52	\$31.00	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
GAStudyArea		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.52	\$31.00	\$1.00	\$1.00			\$ -		\$1.50		\$3.00	
GAStudyArea	, •	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.52	\$31.00	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
•	Leesburg	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.52	\$31.00	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
GAStudyArea		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.52	\$31.00	\$1.00	\$1.00			\$ -		\$1.5		\$3.00	
•	Calhoun	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00			\$ -		\$1.5	0	\$3.00	
•		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00		· ·	\$ -		\$1.5	0	\$3.00	
•	Forsyth	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00		-	\$ -		\$1.5	0	\$3.00	
GAStudyArea		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00			\$ -		\$1.5	0	\$3.00	
GAStudyArea	Greenville	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00			\$ -		\$1.5	0	\$3.00	
GAStudyArea	Hogansville	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00	\$0.0		\$ -		\$1.5	0	\$3.00	
GAStudyArea	Leary	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Newton	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Smithville	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Sylvester	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Rome	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$28.77	\$31.00	\$1.00	\$1.00	\$0.0	0 \$2.00	\$ -		\$1.5	0	\$3.00	
•		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		· ·	\$ -		\$1.5	0	\$3.00	
GAStudyArea	Savannah	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00		· ·	\$ -		\$1.5		\$3.00	
GAStudyArea		\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	_		\$ -		\$1.5		\$3.00	
	,			,					,						, S.S	,	-		. ,		F	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 6 of 25

Exhibit ARC-NO CAF-1 GA Public Version

					4	4			4	4				4	 	4					
4StudyArea	Columbus	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
AStudyArea	Macon	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Appling	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Cusseta	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Harlem	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Hamilton	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Hephzibah	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Warner Robins	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
StudyArea	Pine Mountain	\$23.05	\$0.00	\$0.00	\$0.00	\$1.50	\$0.00	\$0.00	\$6.45	\$31.00	\$29.44	\$31.00	\$0.56	\$1.00	\$0.00	\$2.00	\$ -	\$	1.50		\$3.00
AStudyArea	StateTotal	\$ -	\$ -	\$ - !	\$ -	\$ -	\$ -	\$ -	\$ 6.45	\$ 6.45	\$ -	\$ 6.45 \$	0.56	\$ 1.00	\$ 6.45	\$ 2.00	\$ 1.06	\$.50	\$	3.00
		 _													_					_	

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

				Rate	Ceiling Comp	onent Charge	s Calculation	(51.915(b)(11))							- 1				RES	IDENCE / N	P / BRI (excluding				
Study Area	EXCHANGES				<u> </u>	BRI / SLB (exc		, ,,,	//			Total Crnt Yr		Maximum			MULTI-LINE BU	JSINESS			Life	eline)	SL	3	MULTI-LINE	BUSINESS
		Res / NP / BRI Tariff Period	SLB Tariff Period	Stand-alone		Mandatory Zone	State			State	Federal	•	Rate Ceiling Comp. Chgs	•	Res/NP/BRI Prv Yrs	SLB Prv Yrs	Tariff Period	Federal	Prv Yrs		X Curr Yr s/NP/BRI	MAX Curr Yr	MAX Curr Yr SLB	MAX Curr Yr	MAX Curr Yr MLB	MAX Curr Yr
		Projected Lines	Projected Lines		<u>EAS</u>	Charges	SLC	<u>E911</u>	<u>TRS</u>	<u>USF</u>	SLC	w/o ARC	Since 2012	to date	Max Rate	Max Rate	Projected Lines	SLC-MLB	Max Rate		RC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
1/1/C±d	Kentucky			¢24.20	ć0.00	¢0.00	ć0.00	Ć4.50	¢0.04	¢0.00	ĆC 45	ć22.40	¢20.26	ć22.40	ć0.74	ć1 00		¢0.00	ć2.00				4			
KYStudyArea	Aurora			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Bagdad Bardstown			\$21.20 \$21.20	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$4.50 \$4.50	\$0.04 \$0.04	\$0.00 \$0.00	\$6.45 \$6.45	· ·	\$29.26 \$29.26	\$32.19 \$32.19	\$0.74 \$0.74	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea KYStudyArea	Beattyville			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Beaver Dam			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	ş ç	-		\$1.50 \$1.50		\$3.00 \$3.00	
KYStudyArea	Bedford			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	· ·	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	ς ς	_		\$1.50		\$3.00	
KYStudyArea	Benham-Lynch			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	Ś	_		\$1.50		\$3.00	
KYStudyArea	Benton			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	Ś	_		\$1.50		\$3.00	
KYStudyArea	Bloomfield			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	_		\$1.50		\$3.00	
KYStudyArea	Bremen			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
, KYStudyArea	Burgin			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Cadiz			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Calhoun			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Campbellsburg			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Canton			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Carlisle			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Carrollton			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Centertown			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Central City			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Chaplin			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Clay			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Clinton			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Cloverport			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Crab Orchard			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	•	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea				\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	•	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea				\$21.20				\$4.50		\$0.00		\$32.19	-	\$32.19		\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Dixon			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Drakesboro			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Eddyville			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Elkton			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	•	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Eminence			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Finchville Fordsville			\$21.20 \$21.20	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$4.50 \$4.50	\$0.04 \$0.04	\$0.00 \$0.00	\$6.45 \$6.45		\$29.26 \$29.26	\$32.19 \$32.19	\$0.74 \$0.74	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea KYStudyArea	Franklin			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Fredonia			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50 \$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74 \$0.74	\$1.00		\$0.00	\$2.00	÷	-		\$1.50 \$1.50		\$3.00 \$3.00	
KYStudyArea	Freeburn			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	ç	-		\$1.50		\$3.00	
KYStudyArea	Fulton			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	ς ς	-		\$1.50		\$3.00	
KYStudyArea				\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	_		\$1.50		\$3.00	
KYStudyArea	Gilbertsville			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	_		\$1.50		\$3.00	
KYStudyArea				\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	_		\$1.50		\$3.00	
KYStudyArea				\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	_		\$1.50		\$3.00	
, KYStudyArea	Hardinsburg			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Harlan			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45		\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Harrodsburg			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Hartford			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Hawesville			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Hickman			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Inez			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Island			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	-	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
KYStudyArea	Jackson			\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 8 of 25

KYStudyArea	Junction City	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Lawrenceburg	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Lebanon Junctn.	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Livermore	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Louisa	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Marion	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Maysville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	McDaniels	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Millersburg	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Milton	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Morganfield	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Morgantown	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Mt. Eden	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Mt. Sterling	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Neon	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	New Haven	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Owenton	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Paintsville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Paris	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Perryville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Pineville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Port Royal	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Princeton	\$21.20	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$4.50 \$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea KYStudyArea	Providence Russellville	\$21.20 \$21.20	\$0.00	\$0.00	\$0.00 \$0.00	\$4.50 \$4.50	\$0.04 \$0.04	\$0.00 \$0.00	\$6.45 \$6.45	\$32.19 \$32.19	\$29.26 \$29.26	\$32.19 \$32.19	\$0.74 \$0.74	\$1.00 \$1.00	\$0.00 \$0.00	\$2.00 \$2.00	\$ ¢	-	\$1.50	\$3.00	
KYStudyArea	Sacramento	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	ç	-	\$1.50 \$1.50	\$3.00 \$3.00	
KYStudyArea	Salvisa	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	ç	_	\$1.50	\$3.00	
KYStudyArea	Sebree	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	Ś	_	\$1.50	\$3.00	
KYStudyArea	Sharon Grove	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.00	
, KYStudyArea	Shelbyville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Simpsonville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Slaughters	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Springfield	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Stanford	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Stanton	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Stone	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Sturgis	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Sulphur	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Taylorsville _	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Trenton	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Waddy	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Wallins Creek	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea KYStudyArea	Warfield Whitesburg	\$21.20 \$21.20	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$4.50 \$4.50	\$0.04 \$0.04	\$0.00 \$0.00	\$6.45 \$6.45	\$32.19 \$32.19	\$29.26 \$29.26	\$32.19 \$32.19	\$0.74 \$0.74	\$1.00 \$1.00	\$0.00 \$0.00	\$2.00 \$2.00	\$ ¢	-	\$1.50	\$3.00	
KYStudyArea	Willisburg	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50 \$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74 \$0.74	\$1.00	\$0.00	\$2.00	\$ ¢	-	\$1.50	\$3.00	
KYStudyArea	Allen	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	ç	-	\$1.50 \$1.50	\$3.00 \$3.00	
KYStudyArea	Corbin	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	ç	_	\$1.50	\$3.00	
KYStudyArea	Corydon	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	Ś	_	\$1.50	\$3.00	
KYStudyArea	Dawson Springs	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.00	
, KYStudyArea	Earlington	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	, \$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Elkhorn City	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Fedscreek	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Hanson	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Hebbardsville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Henderson	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Madisonville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Martin	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
KYStudyArea	Mayfield	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 9 of 25

KYStudyArea	McDowell	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Middlesboro	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Mortons Gap	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Murray	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Nebo	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Nortonville	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Prestonsburg	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Robards	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	S. Williamson	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	St. Charles	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Virgie	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Wayland	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Williamsburg	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Winchester	\$21.20	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$32.19	\$29.26	\$32.19	\$0.74	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Bluff Springs	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Bowling Green	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Crofton	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Ensor	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Ford	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Frankfort	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Gracey	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Habit	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Hopkinsville	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Kirksville	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	LaFayette	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Maceo	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Owensboro	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Paducah	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Panther	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Pembroke	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Pikeville	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Pleasant Ridge	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Richmond	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Rose Terrace	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Sorgho	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Stanley	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Utica	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	W. Louisville	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Waco	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Whitesville	\$22.65	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.64	\$30.71	\$33.64	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Oak Grove	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$31.36	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	LaGrange	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$32.06	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Louisville	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$32.06	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	West Point	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$32.06	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Georgetown	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$32.06	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Sadieville	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$32.06	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	Stamping Grd.	\$23.00	\$0.00	\$0.00	\$0.00	\$4.50	\$0.04	\$0.00	\$6.45	\$33.99	\$32.06	\$33.99	\$0.00	\$1.00	\$0.00	\$2.00	\$ -	\$1.50		\$3.00
KYStudyArea	StateTotal	\$ -	<u>.</u>	\$ -	<u>.</u>	<u>.</u>		•	\$ 6.45			\$ 6.45	*	\$ 1.00	\$ 6.45	2.00	\$ 0.50	\$ 1.50	\$	3.00
•												·			 ·				_	

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

				Rate	Ceiling Comp	onent Charge	s Calculation	(51.915(b)(11))											RI	ESIDENCE / NP	/ BRI (excluding	CI	D	NALILTLLINIE	DUCINITIC
Study Area	EXCHANGES	Pos / ND / DD	CLD	RESID	DENCE / NP /	BRI / SLB (exc	luding Lifelin	e)				Total Crnt Yr		Maximum	Poc/ND/DD	CLD	MULTI-LINE B	USINESS			Lifel	ine)	SL MAY Curr Vr	D	MULTI-LINE	DUSINESS
		Res / NP / BRI Tariff Period	SLB Tariff Period	Stand-alone	Mandatory	Mandatory Zone	State			State	Federal	Comp. Chgs	Rate Ceiling Comp. Chgs	Rate Ceiling Comp. Chgs	Prv Yrs	SLB Prv Yrs	Tariff Period	Federal	Prv Yrs		MAX Curr Yr Res/NP/BRI	MAX Curr Yr	MAX Curr Yr SLB	MAX Curr Yr	MAX Curr Yr MLB	MAX Curr Yr
		Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	<u>Charges</u>	SLC	<u>E911</u>	<u>TRS</u>	<u>USF</u>	SLC	w/o ARC	Since 2012	to date	Max Rate	Max Rate	<u>Projected Lines</u>	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
I A C+u du A roo	Louisiana			¢10.04	¢0.00	¢0.00	¢0.00	¢1.00	לח חד	Ċ1 1F	Ċ6.4F	ć27 F0	¢2F.06	¢27.F0	¢1 00	ć1 00	_	L 60.00	¢2.00		4.50		44.50		40.00	
LAStudyArea	Alexandria Baton Rouge			\$18.94 \$18.94	\$0.00	\$0.00 \$0.00	\$0.00	\$1.00 \$1.00	\$0.05 \$0.05	\$1.15 \$1.15	\$6.45 \$6.45	\$27.59 \$27.59	\$25.86 \$25.86	\$27.59 \$27.59	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea LAStudyArea	Broussard			\$18.94	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00	\$1.00	\$0.05	\$1.15 \$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Franklin			\$18.94	\$0.00 \$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50 1.50		\$1.50 \$1.50		\$3.00 \$3.00	
LAStudyArea	Hammond			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	ç	1.50		\$1.50		\$3.00	
LAStudyArea	Houma			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Kenner			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	Š	1.50		\$1.50		\$3.00	
LAStudyArea	Lafayette			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
LAStudyArea	Lake Charles			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
LAStudyArea	LaPlace			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Luling			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Lutcher			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Mandeville			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Monroe			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Morgan City			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	New Iberia			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	New Orleans			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Norco			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Opelousas			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Patterson			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Plaquemine			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Ruston			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Shreveport			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Slidell			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Sulphur			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Thibodaux			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Venice			\$18.94	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$27.59	\$25.86	\$27.59	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Abbeville			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Albany			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Amite			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Baldwin			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Bastrop			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Benton			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Blanchard			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Bogalusa			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Bunkie			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Carencro			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Castor			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Centerville			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Chackbay			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Convent			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Covington			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Crowley			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Denham Springs			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	DeRidder			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Donaldsonville			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Doyline			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Dulac			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Duson			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
LAStudyArea	Edgard			\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 11 of 25

LAStudyArea	Erath	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Eunice	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Ferriday	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Folsom	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Gibson	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Grambling	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Greenwood	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Haughton	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ć	1.50	\$1.50	\$3.00	
LAStudyArea	Independence	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ć	1.50	\$1.50	\$3.00	
LAStudyArea	Jackson	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	٠	1.50	\$1.50		
•		\$14.28	\$0.00			\$1.00					\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	۶			\$3.00	
LAStudyArea	Jeanerette	-	•	\$0.00	\$0.00	4	\$0.05	\$1.15	\$6.45	\$22.93	•	•	-		-		\$	1.50	\$1.50	\$3.00	
LAStudyArea	Jennings	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Jesuit Bend	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Keithville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Krotz Springs	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Labadieville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Lacombe	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Lafitte	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Lake Arthur	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Lake Providence	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	LeCompte	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Leesville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Livingston	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Lockport	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Loreauville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Madisonville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Mansfield	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Many	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Marksville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Minden	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Montegut	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Morganza	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	,	1.50	\$1.50	\$3.00	
LAStudyArea	Napoleonville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	,	1.50	\$1.50	\$3.00	
LAStudyArea	Natchitoches	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ć	1.50	\$1.50	\$3.00	
LAStudyArea	New Roads	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ر	1.50	\$1.50	\$3.00	
LAStudyArea	Oakdale	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ځ	1.50		\$3.00	
LAStudyArea	Oil City	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ر ا		\$1.50		
LAStudyArea	Paradis	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00		\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	۶	1.50	\$1.50	\$3.00	
•		-	•				\$0.05	•			•	-	-	\$1.00			\$	1.50	\$1.50	\$3.00	
LAStudyArea	Pearl River	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00 \$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Ponchatoula	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Raceland	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Rayne	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Rayville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Springfield	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	St. Francisvl.	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	St. Gabriel	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	St. Martinville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Sterlington	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Tallulah	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93		\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Vacherie	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Vidalia	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Vinton	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	White Castle	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Winnsboro	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Youngsville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Zachary	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Angie	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Arcadia	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
																	_				

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 12 of 25

LAStudyArea	Bernice	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Boyce	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Bush	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Calhoun	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Clinton	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Colfax	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Columbia	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	,	1.50	\$1.50	\$3.00	
LAStudyArea	Converse	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ر ا	1.50	\$1.50	\$3.00	
LAStudyArea	Coushatta	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ر ا				
•		\$14.28	\$0.00				4				\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	۶	1.50	\$1.50	\$3.00	
LAStudyArea	Crowville	•	•	\$0.00	\$0.00	\$1.00 \$1.00	\$0.05	\$1.15	\$6.45	\$22.93	•	-	-		-		\$	1.50	\$1.50	\$3.00	
LAStudyArea	Delhi	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Dry Prong	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Dubach	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Epps	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Farmerville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Florien	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Fort Necessity	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Franklinton	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Georgetown	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Gibsland	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Grand Cane	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Gueydan	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Harrisonburg	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Haynesville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Homer	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Hornbeck	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Jonesboro	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	, \$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Jonesville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
LAStudyArea	Keatchie	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ξ,	1.50	\$1.50	\$3.00	
LAStudyArea	Kentwood	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	,	1.50	\$1.50	\$3.00	
LAStudyArea	Lawtell	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	ر	1.50	\$1.50	\$3.00	
LAStudyArea	Leonville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	چ خ			•	
•		•	•			•				•	•	•	-	\$1.00	-		\$	1.50	\$1.50	\$3.00	
LAStudyArea	Lisbon	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Logansport	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Melville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Mer Rouge	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Merryville	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Monterey	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Montgomery	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Mount Hermon	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Newellton	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05 ·	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Oak Grove	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Pine	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Pollock	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Port Barre	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Robeline	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Rougon	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Saline	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Sicily Island	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	St. Joseph	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	St. Landry	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Sweet Lake	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Tunica	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Washington	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Water Proof	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Weeks Island	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
LAStudyArea	Wilson	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	s ·	1.50	\$1.50	\$3.00	
LAStudyArea	Winnfield	\$14.28	\$0.00	\$0.00	\$0.00	\$1.00	\$0.05	\$1.15	\$6.45	\$22.93	\$22.58	\$22.93	\$1.00	\$1.00	\$0.00	\$2.00	s	1.50	\$1.50	\$3.00	
	··········	7 _ 0	7 5.50	, 0.00	₊ 0.00	₊ =.00	₊ 0.00	₊ 5	₊ 55	,J	,J	,J	÷ =.00	T = .00	₇ 0.00	7	· ·		71.50	75.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 13 of 25

Exhibit ARC-NO CAF-1 LA Public Version

LAStudyArea Zwolle \$14.28 \$0.00 \$0.0

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

	579777925					onent Charge			11))								A411171 11N15 DI	LICINIECC			RESIDENCE / NP		Si	.B	MULTI-LINE	E BUSINESS
Study Area	EXCHANGES	Res / NP / BRI	SLB	RESID	ENCE / NP /	BRI / SLB (exc Mandatory	cluding Lifelin	ie)				Total Crnt Yr Rate Ceiling		Maximum Rate Ceiling	Res/NP/BRI	SLB	MULTI-LINE BI	USINESS			Lifeli MAX Curr Yr	ne)	MAX Curr Yr		MAX Curr Yr	
		Tariff Period	Tariff Period		Mandatory	Zone	State			State	Federal	Comp. Chgs	Comp. Chgs	Comp. Chgs	Prv Yrs	Prv Yrs	Tariff Period	Federal	Prv Yrs		Res/NP/BRI	MAX Curr Yr	SLB	MAX Curr Yr	MLB	MAX Curr Yr
	Mississippi	Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	<u>Charges</u>	<u>SLC</u>	<u>E911</u>	<u>TRS</u>	<u>USF</u>	SLC	w/o ARC	<u>Since 2012</u>	to date	Max Rate	Max Rate	<u>Projected Lines</u>	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
MSStudyArea	• •			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	9	1.50		\$1.50		\$3.00	
MSStudyArea	Belzoni			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Centreville			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Charleston			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Coffeeville			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Como			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Crenshaw			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
•	Crystal Springs			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	5	1.50		\$1.50		\$3.00	
				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	·			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	•	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	5	1.50		\$1.50		\$3.00	
MSStudyArea	•			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	5	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	5	1.50		\$1.50		\$3.00	
MSStudyArea	<u>-</u>			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	,	1.50		\$1.50		\$3.00	
MSStudyArea MSStudyArea	·			\$19.20 \$19.20	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$1.00 \$1.00	\$0.10 \$0.10	\$0.00 \$0.00	\$6.45 \$6.45	\$26.75 \$26.75	\$23.72 \$23.72	\$26.75 \$26.75	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	,	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Š	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	,	5 1.50 5 1.50		\$1.50 \$1.50		\$3.00 \$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		5 1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		5 1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	3	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	•	·	\$1.00	\$0.10	•	•	•	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	•	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	9	1.50		\$1.50		\$3.00	
MSStudyArea	Oakland			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Pace			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Poplarville			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Port Gibson			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	Purvis			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	5	1.50		\$1.50		\$3.00	
MSStudyArea	Raleigh			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea	<u>-</u>			\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	-	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	5	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ş	1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	-	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50		\$3.00	
MSStudyArea MSStudyArea	•			\$19.20 \$19.20	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$1.00 \$1.00	\$0.10 \$0.10	\$0.00 \$0.00	\$6.45 \$6.45	\$26.75 \$26.75	\$23.72 \$23.72	\$26.75 \$26.75	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00		1.50		\$1.50		\$3.00	
MSStudyArea MSStudyArea	•			\$19.20 \$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00 \$1.00	\$1.00		\$0.00 \$0.00	\$2.00		1.50		\$1.50 \$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50 \$1.50		\$3.00 \$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		5 1.50 5 1.50		\$1.50 \$1.50		\$3.00 \$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		5 1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		5 1.50		\$1.50		\$3.00	
MSStudyArea				\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45		\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00		1.50		\$1.50		\$3.00	
				Q 13.20	φυ.συ	φ3.00	70.00	71.00	70.10	70.00	ψ J. ŦJ	7=0.75	7-3.72	7=0.75	γ±.00	71.00		φ3.00	γ2.00	7	1.50		71.50		Ş3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 15 of 25

NACC+dA.roo	Union	Ć10 20	¢0.00	¢0.00	¢0.00	ć1 00	Ć0 10	¢0.00	¢C 45	¢26.75	ć22.72	¢26.75	ć1 00	¢1.00		¢0.00	¢2.00			41.00	40.00	
•	Union	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Wesson	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Woodville	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Kilmichael	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Newton-Hickory	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Seminary	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Tylertown	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Vaiden	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Wiggins	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Winona	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Blue Mountain	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Booneville	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Canton	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Carthage	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Collins	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Durant	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
·		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	, \$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	•	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	Š	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	¢	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	¢	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	¢	1.50	\$1.50	\$3.00	
MSStudyArea	•	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	خ	1.50		\$3.00	
•		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	۶		\$1.50		
·		\$19.20	\$0.00	\$0.00		\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•	Okolona	\$19.20		\$0.00	\$0.00 \$0.00						\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•		-	\$0.00	•	\$0.00	\$1.00 \$1.00	\$0.10	\$0.00	\$6.45	\$26.75			•			•		\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•	Ripley	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•	Tchula	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75		\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75		\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
•	·	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	·	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	•	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Aberdeen	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Amory	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Brookhaven	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Buckatunna	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
MSStudyArea	Clarksdale	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50	\$1.50	\$3.00	
															_							-

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 16 of 25

MSStudyArea	Enterprise	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$	1.50	\$3.00	
MSStudyArea	Friars Point	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$	1.50	\$3.00	
MSStudyArea	Jonestown	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$	1.50	\$3.00	
MSStudyArea	Lula	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$	1.50	\$3.00	
MSStudyArea	Magee	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	\$	1.50	\$3.00	
•	Quitman	\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	Ś	1.50	\$3.00	
, MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50		1.50	\$3.00	
MSStudyArea		\$19.20	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$26.75	\$23.72	\$26.75	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50		1.50	\$3.00	
MSStudyArea	Carrollton	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50		1.50	\$3.00	
MSStudyArea	Coldwater	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	Ś	1.50		1.50	\$3.00	
MSStudyArea	Corinth	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	Ġ	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	¢	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	ė	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	ė	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	چ د	1.50		1.50	\$3.00	
MSStudyArea	•	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	ځ	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	چ خ					
•		\$20.60		\$0.00									\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$ ¢	1.50		1.50	\$3.00	
MSStudyArea	Magnolia MaGamb		\$0.00	•	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	•		-		\$	1.50		1.50	\$3.00	
•	McComb	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	Natchez	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	•	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	,	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	Calenda	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Columbus	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Columbus AFB	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	Ellisville	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Greenville	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Hollandale	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50	•	1.50	\$3.00	
•	Leland	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Pearlington	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Starkville	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Briarwood	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
•	Duffee	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea		\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	Obadiah	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	Toomsuba	\$20.60	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$28.15	\$25.12	\$28.15	\$1.00	\$1.00	\$0.00	\$2.00	\$	1.50		1.50	\$3.00	
MSStudyArea	•	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea	•	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea	·	\$22.00	\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$1.00	\$0.10 \$0.10	\$0.00 \$0.00	\$6.45 \$6.45	\$29.55	\$26.53	\$29.55	\$1.00 \$1.00	\$1.00 \$1.00	\$0.00	\$2.00 \$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00		\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00		\$0.00		\$	0.45		1.50	\$3.00	
•	Nettleton	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea	<u>-</u>	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea	Tupelo	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45 \$6.45	\$29.55	\$26.53	\$29.55	\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
•	Ocean Springs	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
•	Pass Christian	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45 \$6.45	\$29.55	\$26.53	\$29.55	\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
•	Bolton	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45 \$6.45	\$29.55	\$26.53	\$29.55	\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45 \$6.45	\$29.55	\$26.53	\$29.55	\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$1.00	\$0.10 \$0.10	\$0.00 \$0.00	\$6.45 \$6.45	\$29.55 \$29.55	\$26.53 \$26.53	\$29.55 \$20.55	\$1.00 \$1.00	\$1.00	\$0.00 \$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea		\$22.00	\$0.00	\$0.00	\$0.00 \$0.00	\$1.00	\$0.10	\$0.00 \$0.00	\$6.45 \$6.45	\$29.55	\$26.53	\$29.55	\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		1.50	\$3.00	
MSStudyArea	Guilbort	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45	\$	1.50	\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 17 of 25

Exhibit ARC-NO CAF-1 MS Public Version

MSStudyArea Jackson	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	Ś	0.45	Ġ,	50	\$3.00	
MSStudyArea Madison											\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45		50	\$3.00	
MSStudyArea Raymond											\$29.55	=	\$1.00	\$0.00	\$2.00	\$	0.45	\$1	50	\$3.00	
MSStudyArea Terry	\$22.00	\$0.00	\$0.00	\$0.00	\$1.00	\$0.10	\$0.00	\$6.45	\$29.55	\$26.53	\$29.55	\$1.00	\$1.00	\$0.00	\$2.00	\$	0.45	\$:	50	\$3.00	
MSStudyArea StateTotal	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -	\$ 6.45	\$ 6.45	\$ -	\$ 6.45	\$ 1.00 \$	\$ 1.00	\$ 6.45	2.00	\$	1.50	\$ 1	.50	\$ 3.00	

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

6	5101111050					onent Charge			11))								AAUUTI UNE D	LICINIECC			· ·	P / BRI (excluding	Si	LB	MULTI-LINE	E BUSINESS
Study Area	EXCHANGES	Res / NP / BRI	SLB	RESID		BRI / SLB (exc Mandatory	luding Lifelin	e)				Total Crnt Yr Rate Ceiling		Maximum Rate Ceiling	Res/NP/BRI	SLB	MULTI-LINE B	USINESS			Life MAX Curr Yr	eline)	MAX Curr Yr		MAX Curr Yr	
		Tariff Period	Tariff Period		Mandatory	Zone	State			State	Federal	Comp. Chgs	Comp. Chgs	Comp. Chgs	Prv Yrs	Prv Yrs	Tariff Period	Federal	Prv Yrs		Res/NP/BRI	MAX Curr Yr	SLB	MAX Curr Yr	MLB	MAX Curr Yr
	North Carolina	Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	<u>Charges</u>	SLC	<u>E911</u>	<u>TRS</u>	<u>USF</u>	<u>SLC</u>	w/o ARC	Since 2012	to date	Max Rate	Max Rate	<u>Projected Lines</u>	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
NCStudyArea	Atkinson			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	; -		\$1.50		\$3.00	
NCStudyArea	Burgaw			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Gibson			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Laurinburg			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Long Beach			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Newland			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Southport			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Spruce Pine			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Blowing Rock			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Boone			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Canton			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Caroleen			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
NCStudyArea	Clyde			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Ellenboro			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Forest City			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Hamlet			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
NCStudyArea	Maggie Valley			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
NCStudyArea	Rockingham			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Waynesville			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	5	-		\$1.50		\$3.00	
NCStudyArea	Chapel Hill			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Cleveland			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	5	-		\$1.50		\$3.00	
NCStudyArea	Fairmont			\$23.00 \$23.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.60	\$0.14 \$0.14	\$0.00	\$6.45 \$6.45	\$30.19	\$28.15 \$28.15	\$30.19 \$30.19	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00	\$2.00 \$2.00	\$	· -		\$1.50		\$3.00	
NCStudyArea NCStudyArea	Gatewood Grantham			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60 \$0.60		\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00 \$1.00	\$1.00		\$0.00 \$0.00	\$2.00	۶	· -		\$1.50		\$3.00	
NCStudyArea	Grover			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14 \$0.14	\$0.00 \$0.00	\$6.45	\$30.19 \$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	7	-		\$1.50 \$1.50		\$3.00 \$3.00	
NCStudyArea	Lattimore			\$23.00	\$0.00	•	\$0.00	\$0.60	\$0.14	\$0.00			\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	,	-		\$1.50		\$3.00	
NCStudyArea	Lawndale			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	,			\$1.50		\$3.00	
NCStudyArea	Lincolnton			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45		\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	, and a	-		\$1.50		\$3.00	
NCStudyArea	Lumberton			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45		\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	و ا	-		\$1.50		\$3.00	
NCStudyArea	Morganton			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	-	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	9	-		\$1.50		\$3.00	
, NCStudyArea	Reidsville			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	; -		\$1.50		\$3.00	
NCStudyArea	Ruffin			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Rutherfordton			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Statesville			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Stony Point			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Cherryville			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Goldsboro			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
NCStudyArea	Hendersonville			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Lake Lure			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea	Maiden			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
NCStudyArea	Pembroke			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	Ş	-		\$1.50		\$3.00	
NCStudyArea				\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45		\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	5	-		\$1.50		\$3.00	
NCStudyArea	Salisbury			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	-	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	,	-		\$1.50		\$3.00	
NCStudyArea	·			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00		-		\$1.50		\$3.00	
NCStudyArea	Taylorsville Anderson			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60 \$0.60	\$0.14 \$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00	\$	-		\$1.50		\$3.00	
NCStudyArea	Anderson			\$23.00	\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.60 \$0.60	\$0.14 \$0.14	\$0.00	\$6.45		\$28.15	\$30.19	\$1.00 \$1.00	\$1.00		\$0.00 \$0.00	\$2.00	,	· -		\$1.50		\$3.00	
NCStudyArea NCStudyArea	Burlington Carolina Beach			\$23.00 \$23.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.60 \$0.60	\$0.14 \$0.14	\$0.00 \$0.00	\$6.45 \$6.45	\$30.19 \$30.19	\$28.15 \$28.15	\$30.19 \$30.19	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00		· -		\$1.50		\$3.00	
NCStudyArea				\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45		\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	, , , , , , , , , , , , , , , , , , ,	- -		\$1.50 \$1.50		\$3.00 \$3.00	
NCStudyArea	·			\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45		\$28.15	\$30.19	\$1.00	\$1.00		\$0.00	\$2.00	,	, -		\$1.50 \$1.50		\$3.00	
NestadyAlea	Satemone			723.00	γυ.υυ	JU.00	γυ.υυ	70.00	70.1 4	γυ.υυ	7 0. 4 3	730.13	γ20.1 J	Ψ30.1 3	γ±.00	71.00		0.00	72.00	7	, -		\$1.30		Ş 3. 00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 19 of 25

NCStudyArea	Milton	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	ç	; <u>-</u>	\$1.50	\$3.00	0
NCStudyArea	Mt. Olive	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Newton	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Scotts Hill	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Troutman	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Wilmington	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Asheville	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Bessemer City	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Gastonia	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Kings Mountain	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	Ş	-	\$1.50	\$3.00	0
NCStudyArea	Lenoir	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Locust	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Lowell	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Acme	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Black Mountain	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Enka-Candler	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Fairview	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Leicester	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Saxapahaw	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Swannanoa	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Wrightsvl. Bch.	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Apex	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Arden	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Belmont	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
•	Cary	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Charlotte	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Davidson	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Denver	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
NCStudyArea	Greensboro	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•		\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	0
•	Julian	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•	Knightdale	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•	Monticello	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
NCStudyArea		\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
NCStudyArea	Raleigh	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•	Selma	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19		\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•	Stanley	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
NCStudyArea		\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19		\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•	Wendell	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
•	Winston-Salem	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
NCStudyArea	Zebulon	\$23.00	\$0.00	\$0.00	\$0.00	\$0.60	\$0.14	\$0.00	\$6.45	\$30.19	\$28.15	\$30.19	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
NCStudyArea	StateTotal	\$ - :	Ş -	Ş -	Ş -	Ş -	Ş -	\$ -	: 45.0 ډ	\$ 6.45	> -	\$ 6.45 \$	1.00 \$	1.00	\$ 6.45 \$	2.00	Ş	1.50	\$ 1.50	\$ 3.00	

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

				Rate (Ceiling Comp	onent Charge	s Calculation	(51.915(b)(11))												RESIDENCE / NP	/ BRI (excluding	CI	D	NALILTI LINIE	DUCINECC
Study Area	EXCHANGES	D =	CLD	RESID	ENCE / NP /	BRI / SLB (exc	luding Lifelin	ne)				Total Crnt Yr		Maximum	D /ND /DDI	CLD	MULTI-LINE B	USINESS				line)	SLI	В	MULTI-LINE	RO2INE22
		Res / NP / BRI Tariff Period	SLB Tariff Period	Stand-alone	Mandatory	Mandatory Zone	State			State	Federal	Comp. Chgs	Rate Ceiling Comp. Chgs	Comp. Chgs	Prv Yrs	SLB Prv Yrs	Tariff Period	Federal	Prv Yrs		MAX Curr Yr Res/NP/BRI	MAX Curr Yr	MAX Curr Yr SLB	MAX Curr Yr	MAX Curr Yr MLB	MAX Curr Yr
		Projected Lines	Projected Lines	R1 rate	<u>EAS</u>	<u>Charges</u>	SLC	<u>E911</u>	TRS	<u>USF</u>	SLC	w/o ARC	Since 2012	to date	Max Rate	Max Rate	<u>Projected Lines</u>	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
CCC+uduA roo	South Carolina			ć12 02	¢0.00	¢0.00	¢0.00	ć2 00	¢0.25	¢0.F2	Ċ6.4F	Ć22 OF	ć22 <i>4</i> 7	¢22.47	¢1.00	ć1 00	_	1 60.00	¢2.00				44.50		40.00	
SCStudyArea	Edisto Island			\$13.83	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.52	\$6.45	\$23.05	\$23.47	\$23.47	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Springfield			\$13.83 \$13.83	\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$2.00	\$0.25 \$0.25	\$0.52	\$6.45 \$6.45	\$23.05	\$23.47 \$23.47	\$23.47	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00 \$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	St.George Allendale			\$13.63	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.52 \$0.53	\$6.45	\$23.05 \$23.56	\$23.47	\$23.47 \$23.95	\$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea SCStudyArea	Batesburg			\$14.33	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00	\$2.00 \$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Clio			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50 1.50		\$1.50 \$1.50		\$3.00	
SCStudyArea	Dillon			\$14.33	\$1.41	\$0.00	\$0.00	\$2.00	\$0.25	\$0.56	\$6.45	\$25.00	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	۶	1.50		\$1.50		\$3.00 \$3.00	
SCStudyArea	Edgefield			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	۶	1.50		\$1.50		\$3.00	
SCStudyArea	Johnston			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	۶	1.50		\$1.50		\$3.00	
SCStudyArea	Lake View			\$14.33	\$1.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.56	\$6.45	\$24.70	\$25.06	\$25.06	\$1.00	\$1.00		\$0.00	\$2.00	¢	1.50		\$1.50		\$3.00	
SCStudyArea	Latta			\$14.33	\$1.63	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.23	\$25.58	\$25.58	\$1.00	\$1.00		\$0.00	\$2.00	Š	1.50		\$1.50		\$3.00	
SCStudyArea	McColl			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	Š	1.50		\$1.50		\$3.00	
SCStudyArea	Sharon			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	,	1.50		\$1.50		\$3.00	
SCStudyArea	Union			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	ć	1.50		\$1.50		\$3.00	
SCStudyArea	Whitmire			\$14.33	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.53	\$6.45	\$23.56	\$23.95	\$23.95	\$1.00	\$1.00		\$0.00	\$2.00	Š	1.50		\$1.50		\$3.00	
SCStudyArea	Barnwell			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
SCStudyArea	Blacksburg			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
SCStudyArea	Camden			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
SCStudyArea	Clinton			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	Ś	1.50		\$1.50		\$3.00	
SCStudyArea	Denmark			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
, SCStudyArea	Gaffney			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
, SCStudyArea	, Hickory Grove			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	, Joanna			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Jonesville			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Newberry			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Prosperity			\$14.82	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.54	\$6.45	\$24.06	\$24.42	\$24.42	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Bamberg			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Clemson			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Liberty			\$15.31	\$3.44	\$0.00	\$0.00	\$2.00	\$0.25	\$0.64	\$6.45	\$28.09	\$28.33	\$28.33	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	New Ellenton			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Orangeburg			\$15.31	\$0.19	\$0.00	\$0.00	\$2.00	\$0.25	\$0.56	\$6.45	\$24.76	\$25.08	\$25.08	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Pickens			\$15.31	\$2.45	\$0.00	\$0.00	\$2.00	\$0.25	\$0.62	\$6.45	\$27.08	\$27.34	\$27.34	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Salem			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Seneca			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Walhalla			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Westminster			\$15.31	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.55	\$6.45	\$24.56	\$24.89	\$24.89	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Aiken			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Central			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Clover			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Graniteville			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Honea Path			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Marion			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Mullins			\$15.81	\$0.95	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.05	\$26.31	\$26.31	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Pendleton			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Six Mile			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Society Hill			\$15.81	\$2.68	\$0.00	\$0.00	\$2.00	\$0.25	\$0.63	\$6.45	\$27.82	\$28.04	\$28.04	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Williamston			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.57	\$6.45	\$25.08	\$25.36	\$25.36	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	York			\$15.81	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25 \$0.25	\$0.57	\$6.45 \$6.45	\$25.08	\$25.36	\$25.36	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Anderson			\$16.29	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25 \$0.25	\$0.58	\$6.45 \$6.45	\$25.57	\$25.83	\$25.83	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	
SCStudyArea	Cowpens			\$16.29	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.58	\$6.45	\$25.57	\$25.83	\$25.83	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.50		\$1.50		\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 21 of 25

SCStudyArea	Darlington	\$16.29	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.58	\$6.45	\$25.57	\$25.83	\$25.83	\$1.00	\$1.00		\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	1
SCStudyArea	Florence	\$16.29	\$0.08	\$0.00	\$0.00	\$2.00	\$0.25	\$0.58	\$6.45	\$25.65	\$25.91	\$25.91	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Hartsville	\$16.29	\$0.36	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$25.94	\$26.19	\$26.19	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Pacolet	\$16.29	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.58	\$6.45	\$25.57	\$25.83	\$25.83	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Spartanburg	\$16.29	\$0.13	\$0.00	\$0.00	\$2.00	\$0.25	\$0.58	\$6.45	\$25.70	\$25.96	\$25.96	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Timmonsville	\$16.29	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.58	\$6.45	\$25.57	\$25.83	\$25.83	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Beech Island	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Chapin - LMS	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Charleston	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Columbia	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Easley	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Eastover	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Folly Beach	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Fountain Inn	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Greenville	\$16.79	\$0.12	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.20	\$26.43	\$26.43	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Greer	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Isle of Palms	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Lake Wylie	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Lyman	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Mt. Pleasant	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Piedmont	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Summerville	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00	_	\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	i
SCStudyArea	Travelers Rest	\$16.79	\$0.00	\$0.00	\$0.00	\$2.00	\$0.25	\$0.59	\$6.45	\$26.08	\$26.31	\$26.31	\$1.00	\$1.00		\$0.00	\$2.00	\$ 1.50		\$1.50	\$3.	00	ı
SCStudyArea	StateTotal	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -	\$ 6.45	\$ 6.45	\$ -	\$ 6.45 \$	\$ 1.00 \$	\$ 1.00		6.45	2.00	\$ 1.50	\$	1.50	\$ 3.0	00	i

Holding Company: AT&T

Filing Name: 2014 Annual Filing filaname: ATTTARC14.xls)

						onent Charge			11))									1011500			=	/ BRI (excluding	SI	.B	MULTI-LINE	BUSINESS
Study Area	EXCHANGES	Res / NP / BRI	SLB	RESIDI	ENCE / NP /	BRI / SLB (exc Mandatory	luding Lifelin	e)				Total Crnt Yr Rate Ceiling		Maximum Rate Ceiling	Res/NP/BRI	SLB	MULTI-LINE BI	USINESS			Lifel MAX Curr Yr	ine)	MAX Curr Yr		MAX Curr Yr	
		Tariff Period	Tariff Period	Stand-alone	Mandatory	Zone	State			State	Federal	Comp. Chgs		Comp. Chgs	Prv Yrs	Prv Yrs	Tariff Period	Federal	Prv Yrs		Res/NP/BRI	MAX Curr Yr	SLB	MAX Curr Yr	MLB	MAX Curr Yr
	Tennessee	<u>Projected Lines</u>	Projected Lines	<u>R1 rate</u>	<u>EAS</u>	<u>Charges</u>	SLC	<u>E911</u>	<u>TRS</u>	<u>USF</u>	<u>SLC</u>	w/o ARC	Since 2012	to date	Max Rate	Max Rate	<u>Projected Lines</u>	SLC-MLB	Max Rate		ARC Rate	ARC Rev	ARC Rate	ARC Rev	ARC Rate	ARC Rev
TNStudyArea	Bells			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Brownsville			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Camden			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Carthage			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Centerville			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Cumberld. City			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Dover			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Halls			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Hartsville			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Henderson			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Henning			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Hohenwald			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Lynchburg			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	McEwen			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Ridgely			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Ripley			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Sneedville			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Tiptonville			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Waverly			\$19.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$28.52	\$24.56	\$28.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	1.48		\$1.50		\$3.00	
TNStudyArea	Bethel Springs			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Blanche			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea TNStudyArea	Bolivar Copper Basin			\$20.62 \$20.62	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$1.50 \$1.50	\$0.95 \$0.95	\$0.00 \$0.00	\$6.45 \$6.45	\$29.52 \$29.52	\$25.56 \$25.56	\$29.52 \$29.52	\$1.00 \$1.00	\$1.00 \$1.00		\$0.00 \$0.00	\$2.00 \$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Cumberld. Gap			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	, ,	0.48		\$1.50		\$3.00	
TNStudyArea	Dyer			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50 \$1.50		\$3.00 \$3.00	
TNStudyArea	Dyersburg			\$20.62	\$0.00	•	\$0.00	\$1.50	\$0.95	\$0.00	•	-	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	۶	0.48		\$1.50		\$3.00	
TNStudyArea	Fayetteville			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	¢	0.48		\$1.50		\$3.00	
TNStudyArea	Flintville			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	Ś	0.48		\$1.50		\$3.00	
TNStudyArea	Gibson			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	-	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Gleason			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	Ś	0.48		\$1.50		\$3.00	
TNStudyArea	Grand Junction			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	Ś	0.48		\$1.50		\$3.00	
TNStudyArea	Greenfield			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
, TNStudyArea	Hornbeak			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Humboldt			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Huntington			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Huntland			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Kenton			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	LaFollette			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Lawrenceburg			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Lewisburg			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Lexington			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Lynnville			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Madisonville			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	McKenzie			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Medina			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Middleton			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Milan			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Newbern			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Newport			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	
TNStudyArea	Paris			\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48		\$1.50		\$3.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 23 of 25

		4	4	4	4	4	4	4	4	4	4	4	4	4		4	4	_					
TNStudyArea	Pulaski	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Rogersville	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Savannah	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Selmer	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Sewanee	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Shelbyville	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Surgoinsville	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Sweetwater	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	Ś	0.48	\$1.5		\$3.00	
TNStudyArea	Trenton	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	ć	0.48	\$1.5		\$3.00	
TNStudyArea		\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	,					
-		-				•					-	-	-			-		۶	0.48	\$1.5		\$3.00	
TNStudyArea	Union City	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5		\$3.00	
TNStudyArea	Wartrace	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Whiteville	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Winchester	\$20.62	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$29.52	\$25.56	\$29.52	\$1.00	\$1.00		\$0.00	\$2.00	\$	0.48	\$1.5	0	\$3.00	
TNStudyArea	Athens	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Benton	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Clarksville	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Columbia	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Culleoka	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	Ś	_	\$1.5	0	\$3.00	
TNStudyArea	Cunningham	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	Š	_	\$1.5		\$3.00	
TNStudyArea	Etowah	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	ć		\$1.5		\$3.00	
•		\$21.23	\$0.00 \$0.00	4					4			:	\$1.00			\$0.00	\$2.00	,	_				
TNStudyArea	Fredonia	-	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13		\$1.00		-	_	\$	-	\$1.5		\$3.00	
TNStudyArea	Hampshire	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5		\$3.00	
TNStudyArea	Jackson	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Jellico	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Manchester	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Morristown	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Mt. Pleasant	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Palmyra	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Petersburg	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Sango	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	\$	_	\$1.5	0	\$3.00	
TNStudyArea	Santa Fe	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	, \$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	s	_	\$1.5		\$3.00	
TNStudyArea	Spring Hill	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00	_	\$0.00	\$2.00	ć	_	\$1.5		\$3.00	
TNStudyArea	Tullahoma	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00			\$26.17	\$30.13	\$1.00	\$1.00		\$0.00	\$2.00	خ ا	_				
•		-				-	-		\$6.45	\$30.13	-	-			_	-	_	\$	-	\$1.5		\$3.00	
TNStudyArea	Williamsport	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$26.17	\$30.13	\$1.00	\$1.00	_	\$0.00	\$2.00	\$	-	\$1.5		\$3.00	
TNStudyArea	Charleston	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	-	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5		\$3.00	
TNStudyArea	Chattanooga	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	-	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Cleveland	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Clinton	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Dandridge	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Dayton	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Decatur	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Gatlinburg	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Greenback	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Harriman	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90		\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	Ś	-	\$1.5		\$3.00	
TNStudyArea	Jasper	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	¢	_	\$1.5		\$3.00	
TNStudyArea	Jefferson City	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	-	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	ć	_	\$1.5		\$3.00	
TNStudyArea	Kingston	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	_	\$0.00	\$2.00	خ	_				
TNStudyArea	Lake City	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00 \$1.00	\$1.00		\$0.00	\$2.00	, ,	-	\$1.5		\$3.00	
•	•															-	_	\$	-	\$1.5		\$3.00	
TNStudyArea	Lenoir City	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5		\$3.00	
TNStudyArea	Loudon	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90		\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5		\$3.00	
TNStudyArea	•	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Maynardville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	_	\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Norris	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Oak Ridge	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Oliver Springs	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea	Rockwood	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00		\$0.00	\$2.00	\$	-	\$1.5	0	\$3.00	
TNStudyArea		\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	_	\$0.00	\$2.00	Ś	-	\$1.5		\$3.00	
		, ==	,	,	, 5.50	,	,	, 5.50	, /-	, =====	,	,	, = : 3 5	, =:00		,	,	· ·		Ψ1.5		72.00	

AIT Transmittal No. 1810
BellSouth Transmittal No. 79
NBTC Transmittal No. 263
PBTC Transmittal No. 507
SNET Transmittal No. 1068
SWBT Transmittal No. 3391
June 16, 2014
Page 24 of 25

TNStudyArea	Sevierville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	Ś	_	\$1.50	\$3.00	
TNStudyArea	Soddy-Daisy	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	Ś	_	\$1.50	\$3.00	
TNStudyArea	Spring City	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	Ś	_	\$1.50	\$3.00	
TNStudyArea	White Pine	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	Ś	-	\$1.50	\$3.00	
TNStudyArea	Whitwell	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	Ś	-	\$1.50	\$3.00	
TNStudyArea	Adams-Cdr. Hl.	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	Ś	-	\$1.50	\$3.00	
, TNStudyArea	Arlington	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.00	
TNStudyArea	Ashland City	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.00	
TNStudyArea	Charlotte	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Collierville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	_	\$1.50	\$3.00	
TNStudyArea	Covington	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Cross Plains	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Dickson	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Eagleville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Fairview	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Franklin	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Gallatin	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Goodlettsville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Greenbrier	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Hendersonvl.	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Knoxville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Lebanon	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Mascot	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Memphis	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Moscow	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Murfreesboro	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Nashville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Old Hickory	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Pleasant View	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Portland	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
	Smyrna	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Somerville	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Springfield - ·	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Triune	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Vanleer	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Watertown	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	White House	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	White House	\$23.00	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.90	\$28.94	\$31.90	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Lyles Big Sandy	\$21.15	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.05	\$28.94	\$30.05	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Big Sandy	\$22.10	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$31.00	\$28.94	\$31.00	\$1.00 \$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Summertown	\$21.23	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.13	\$28.94	\$30.13	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	Bulls Gap	\$21.45	\$0.00	\$0.00	\$0.00	\$1.50	\$0.95	\$0.00	\$6.45	\$30.35	\$28.94	\$30.35	\$1.00	\$1.00	\$0.00	\$2.00	\$	-	\$1.50	\$3.00	
TNStudyArea	StateTotal	\$ -	Ş -	Ş -	Ş -	Ş -	Ş -	Ş -	\$ 6.45	\$ 6.45	\$ - :	\$ 6.45 \$) 1.UU Ş	\$ 1.00	\$ 6.45 \$	2.00	\$	1.50	\$ 1.50	\$ 3.00	